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Al Capone walked 2 km north, 6 km west, 4km north, and 2 km west.  If Big Al decides to “go 
straight,” how far must he walk across the fields to his starting point.  
 
 
 
 
 
 
 
 
 
 
 
     Find the altitude (length of a segment perpendicular to both bases) of the isosceles trapezoid shown 
 
 
 
 
 
 
  
 
      
 
 
    A piece broke off a rectangle ABDF, leaving trapezoid ACDF.   
     What is the perimeter of triangle ACE       
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



        
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
#20 Find the perimeter of an isosceles right triangle with a 6-cm hypotenuse 
 
 
 
 
 


